
1) 11 x (-23)

Answer: ____________

2) Write 3 x 105 as a normal number.

Answer: ____________

3) Write 3 x 105 as a normal number.

Answer: ____________

4) Write 2 x 10-2 as a normal number.

Answer: ____________

5) 1812/15 ÷ 918/19

Answer: ____________

6) 1/3 of 48

Answer: ____________

7) Solve by factorising 
q2 - 2q - 15 = 0

Answer: ____________

8) Write 6 x 109 as a normal number.

Answer: ____________

9) 0 x (-31)

Answer: ____________

10) Solve by factorising 
j2 - 16j + 15 = 0

Answer: ____________

11) (-296) + (-725)

Answer: ____________

12) (-40) x (-27)

Answer: ____________

13) Write 7.1 x 109 as a normal number.

Answer: ____________

14) Solve by factorising 
x2 - 8x - 9 = 0

Answer: ____________

15) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________
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16) Solve by factorising 
s2 - 16s + 15 = 0

Answer: ____________

17) (-169) + (-516)

Answer: ____________

18) (-44) x 24

Answer: ____________

19) Solve by factorising 
j2 - 4j - 12 = 0

Answer: ____________

20) Solve by factorising 
j2 - 4j - 12 = 0

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 300000 3) 300000 4) 0.02 5) 1841/945 6) 16 7) q = 5 or -3

8) 6000000000 9) 10) j = 15 or 1 11) -1021 12) 13) 7100000000 14) x = 9 or -1

15) 1/3 16) s = 15 or 1 17) -685 18) 19) j = 6 or -2 20) j = 6 or -2
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